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4U1608-522_0OP00987_W2_NO01_200s.txt / MJD 50348.664777 / burstid=1596

- Grey line: exponential fit Peak flux: 10.233+/- 2.349 c/s/cm® n
— Black line: power law + gauss fit Fluence : 91.48+/- 19.48 c/cm? —
— Dashed line: power law o ’ ) —
L Duration: 29.54+/- 8.79s |
- Best fit model: 1. -
~ Best fluence model: 1. n
IR Best duration model: 1.
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; Power law fit é
= Power law index: -1.879+/- 0.360 (chi’-red= 0.92) 3
- * -
SRR AT AT T R TURERETE A b | ey 1,
= ﬂﬂ W f ﬁ ﬁﬂ H*HWWHQH%HM mww W w WHN HW ﬁﬂﬁ HWWW My w ﬂw H%#Wﬁw H* i HWHW %HH*+++H+ﬁ++%*H++WWWH i ﬂ%ﬁ
i‘ T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 25.63+/-15.16 s, fracgs= 0.27+/- 0.35) =
= Power law index: -2.660+/- 1.483 (chi’-red= 0.93) 3
- * :
= Lt AR TR AR TR FLR RN TR T T BRI A + i 1, O
= i W i Hﬁﬁﬂwﬁﬁﬁ | ﬁﬂﬂwm *ﬁww w i Ww W *u ﬁ +ﬁﬂ+ﬂmﬁwm by W Hﬂwﬂw i’ WHHW wﬁ%ﬂﬁﬁﬁﬁmﬂﬂfWﬁ i W—g
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E

0 100 200 300

Time [s]



